54 —L%HL. 4-49171V—7 10:10 ~ 12:10(125&) / 12:50 ~ 14:30 (9:A)

A4TL—2
A . . . et it
== |BTEFRL | LTEFA]L vs | BTEFL2 (XTEFL2 [MEHER :gl\ - i;
1{7a) KR TAAEF  |vs |FHE EMHIE 4(-1 5] 5|/-| 7
2|EME— = FERES vs | RIFEFIER SHIRF 5-1 4] 7[-] 2
3|[EAREIT BARAEF |vs |[HERX BEHAREF | 5/-] 1 -
4))1IMBEX PEESR  |vs [AIRA = PR 3]-1 5 —
5[ HE SHIRF vs | RIZFMFH inAAEF | 51-[ 0 -
6| BB — TAREF  |vs | H ERE PEESR [ 5]-1 4] 7[-| 5
7 |EAREIT EEHAIEF  |vs |HRHE = RS 2]-1 5 -
8|/IIHBEX EM&mpIE  |vs |H EHEI FARAZEF | 4]-[ 5] 5/-] 7
ol Il RF PEESR  |vs [RER BEHAEF | 5/-1 0 -
10| EME— SHIRF vs |FHH{E BRI F | 4|-| 50 1| 7
11))IIMBEX PARAETF  |vs |BAREIT PEESRK | 1]-[ 5 ~
12|H ERX Em&mpIE |vs |F8)IREA SHIRF 1{-| 5 -
13| &FHFHR EIMFIEF  |vs |JIIHEEX AT | 2|-| 5 -
14| EAREIT = FHAK vs | BB — FEM&H IS 5-] 1 -
15|H F5&R3C TFAAEF  |vs |FHE fBAAEF | 2[-| 5 -
16|EMS— FEESR  |vs [AIRA FEM&H IS 3]-1 5 -
17| ESAREIT SHIRF vs |[FHE AT | 5[-] 3 ~
18|11 EX = FHAK vs |EMFE— inAAEF | 5-[ 3 -
19| RZEHIFHR PEESR  |vs [HEEL SHIRF 2]-1 5 -
20|78/ KA EEEHAIFE T |vs |EAREUT FEMH IS 3-] 5 -
21|)IIBEX NIRRT |vs | REME = A 5-1 4] 7 4




B 5 (&l s |&al
A E=TET A A [BR (T-L[T-L[T-LZK

fz 5 5 nEb |

Z z TREN ¥
=N 5 1{0.83 | 29 18 {0.6170
2| SHIRF 4 210.67 | 28 16 1 0.6364
3|EFARAEF 3 310.50 19| 22]0.4634
4| BRI RNEF 3 310.50 23| 2710.4600
5|EM&H I 3 310.50 | 21 25 10.4565
6| EEER 2 410.33 | 22| 21 (0.5116
7 |BEEHBIEF 1 5/0.17 14 27 10.3415




B 55 &l i o =[]
A EZTET AE [flE |BER  |T-L|T-L[T-LZK
fz P 5 Nt | s
z z TREX |FEEX
1|EAREIT 5 1| 0.83 27 14 | 0.6585
2| HE 5 11 0.83 28 17 | 0.6222
il wn 4 2| 0.67 27 17 | 0.6136
4|)I1HEK 3 3] 0.50 23 24 | 0.4894
5|EME— 2 4| 0.33 21 28 | 0.4286
6|H Rt 2 4| 0.33 18 26 |1 0.4091
7 | R=FE 0 6| 0.00 12 30 | 0.2857




